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[ BEARBIE ]

BIEIEE - v EEEE AEAR BIEHER BIEAR BIEHER
IELCA g/mN 0.08 0.002 0.001
WmERILY ppm 175 0.51 0.36
1| 2R ppm 250 40 20
= R3.6.4 R3.12.21
m | EBIEKE ppm 430 2.7 3.7
—EitinE ppm 100 4 1
2KER te/m 50 0.21 0.17
IELCA g/mN 0.08 0.004 0.002
WERILY ppm 175 3 0.71
i ZEXEBItY ppm 250 56 19
= R3.6.3 R4.2.22
| EBIEKE ppm 430 17 39
—EibRE ppm 100 3 1
2KER tg/m 50 0.39 0.01K5H
[ 54X 5EEEAE ]
BIEEE B EEEME AIER BIEHER
1 R3.6.4 0.00013
=
bl R3.12.21 0.000047
AR ng-TEQ/mN 1
2 R3.6.3 0.00210
=
bl R4.2.22 0.00041




